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1. Which of the following is a characteristic of data that
supports operational decisions?

A. It is produced internally within the organisation.

B. It is derived from publicly available external sources.

C. It is in a consolidated, summarised format.

D. It records tacit information which is difficult to identify.

2. What does the P in PESTLE stand for?
A. Private
B. Public
C. Political
D. Practical

3. When considering a company's core purpose and vision for
the future (VMOST), which option correctly describes its

Vision?

A. The means of achieving goals in the medium to long term
B. High level direction set for the organisation

C. Overall aim for the future of the organisation

D. Defined goals to be achieved by the organisation

4. What does the T stand for in CATWOE?
A. Transformation.
B. Technology.
C. Threats.
D. Tactics.

5. In UML, data is modelled using a Domain Class Model. On
the diagram, which of the following features could be
represented?

A. Multiplicities
B. Events

C. Attributes

D. Associations

Sample study guide. Visit https://bcsfoundationbusinessvhange.examzify.com for the full version 3



6. Which of the following best describes 'change
management' in an organizational context?

A. The process of implementing new technology quickly
B. The approach to managing the financial aspects of a project

C. The methods and strategies for helping individuals adapt to
change

D. The technique for developing quality assurance processes

7. Which of the following are a correct reflection of the
Business Change Life-cycle?

A. Implementation
B. Definition

C. Decisions

D. Analysis

E. Realisation

8. Which of the following would you not expect to see as an
output of a Business Change Design Phase?

A. Applications design

B. Description of the 'to be' process
C. Documented business strategy
D. Training requirements

9. Which of the following best describes related
diversification strategy in business?

A. Entering into similar markets that require the same
technology

B. Acquiring firms in unrelated industries

C. Expanding product lines without changing the core business
D. Forming joint ventures with competitors

10. Which of the following correctly represents the four
stages of the Iterative (Spiral) Development Model?

A. Determine objectives

B. Identify and resolve risks
C. Development and Test

D. Plan the next phase
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1. Which of the following is a characteristic of data that
supports operational decisions?

A. It is produced internally within the organisation.
B. It is derived from publicly available external sources.

C. It is in a consolidated, summarised format.
D. It records tacit information which is difficult to identify.

Data that supports operational decisions is often characterized by its direct applicability
to an organization's internal processes and routines. When data is produced internally, it
reflects the specific operations, trends, and activities of the organization itself, making it
highly relevant for day-to-day decision-making. Operational decisions typically require
real-time or near-real-time data that provides insight into daily activities, resource
allocations, performance metrics, and immediate issues that need addressing. Internal
data is usually more accurate for these purposes as it is collected directly from the
organization's systems and operations, offering a precise picture of the current state of
affairs. In contrast, data derived from publicly available external sources may not align
closely with the unique operational context of the organization. Additionally, data that is
in a consolidated or summarised format is more suited for strategic decision-making, as
it provides an overview rather than specific operational details. Finally, tacit information,
which is often subjective and difficult to identify, may not be effectively captured in
structured data that supports clear operational decisions. Therefore, the focus on
internally produced data underscores its significance and alignment with operational
needs.

2. What does the P in PESTLE stand for?
A. Private
B. Public
C. Political
D. Practical

The correct answer is Political, which is one of the key components in the PESTLE
analysis framework. PESTLE is an acronym that stands for Political, Economic, Social,
Technological, Legal, and Environmental factors. Each of these elements plays a critical
role in analyzing the external environment in which a business operates. The Political
factor primarily examines how government policies, political stability or instability, tax
policies, trade tariffs, and related issues can impact the business environment.
Understanding the political landscape is vital for organizations as it can influence
decisions on strategy, market entry, compliance, and overall operational effectiveness.
Organizations need to be aware of potential changes in the political climate that could
affect their projects, products, and services. For example, a change in government or
legislation regarding environmental protection can lead to increased costs or necessitate
changes in operations. Therefore, the Political dimension provides important insights
that can help businesses anticipate and navigate external challenges effectively.
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3. When considering a company's core purpose and vision for

the future (VMOST), which option correctly describes its
Vision?

A. The means of achieving goals in the medium to long term
B. High level direction set for the organisation

C. Overall aim for the future of the organisation
D. Defined goals to be achieved by the organisation

The vision of a company serves as a compelling and aspirational statement that outlines
the overall aim for the future of the organization. It provides a clear picture of what the
organization aspires to become or achieve in the long term. This overarching aim is
essential because it helps to inspire and motivate stakeholders, guide strategic planning,
and inform decision-making processes. In the context of VMOST (Vision, Mission,
Objectives, Strategies, and Tactics), the vision forms the foundational element upon
which the other components are built. While other elements like objectives and
strategies will detail specific actions or measurable goals, the vision captures the broad
and inspiring future state the organization seeks to attain, serving as a guiding star for
all its activities. The other choices, while related, do not encapsulate the concept of
vision as effectively. The means of achieving goals refers to strategic planning and
operational components, which come after the vision is established. High-level direction,
while somewhat connected, lacks the aspirational quality that a vision embodies. Lastly,
defined goals pertain to specific targets rather than the aspirational future that a vision
represents. Thus, the correct choice is the one that accurately reflects the
future-oriented and aspirational nature of a company's vision.

4. What does the T stand for in CATWOE?
A. Transformation.
B. Technology.
C. Threats.
D. Tactics.

The correct choice is Transformation, which plays a crucial role in the CATWOE
framework, a tool used in Soft Systems Methodology for understanding and analyzing
complex problems in business change. In this context, "Transformation" refers to the
process through which inputs are changed into outputs within a system. It is essentially
about identifying the desired change or the effect that a particular situation requires.
This aspect is vital as it helps to clarify what needs to be changed in order to achieve the
necessary improvements or benefits for stakeholders involved in the system.
Understanding Transformation allows stakeholders to focus on the outcomes of their
actions and the impacts these have on the overall system. This clarity is essential in
business change practices as it supports decision-making and aligns the project
objectives with the needs of those affected by the changes.
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5. In UML, data is modelled using a Domain Class Model. On
the diagram, which of the following features could be
represented?

A. Multiplicities
B. Events

C. Attributes

D. Associations

The choice representing associations in a Domain Class Model in UML is significant
because associations illustrate the relationships between different domain classes.
Associations help in understanding how classes interact with one another and can convey
important information about the nature of those interactions. In the context of a Domain
Class Model, associations are depicted as lines connecting the classes, often labeled with
roles and multiplicity indicators. This provides clarity about which class instances are
related and how many instances can be associated with each other. For instance, a
one-to-many relationship can be represented to indicate that one instance of a class can
be related to multiple instances of another class. Other features, while relevant in
certain contexts, do not specifically define the relationships between classes in the same
way. Multiplicities indicate how many instances of a class can relate to instances of
another class but are not standalone representations. Attributes define the properties of
each class, providing specific details about them, yet they do not illustrate relationships.
Events can be important in certain models but are typically more relevant in dynamic
behavior models rather than static structural models like the Domain Class Model. Thus,
the ability to represent associations in the diagram is crucial for understanding the
structure and interaction of the classes within the system being modeled.

6. Which of the following best describes 'change
management' in an organizational context?

A. The process of implementing new technology quickly
B. The approach to managing the financial aspects of a project

C. The methods and strategies for helping individuals adapt to
change

D. The technique for developing quality assurance processes

Change management is best described as the methods and strategies for helping
individuals adapt to change. This definition emphasizes the human aspect of change
within organizations, focusing on the need to support employees as they transition into
new ways of working, processes, or culture. Effective change management recognizes
that change can be challenging and often meets resistance, therefore it involves a
systematic approach to engage, communicate, and involve everyone affected by the
change. The correct answer highlights that successful change initiatives require not only
planning and executing the technical aspects of change but also addressing the
emotional and psychological impacts on individuals. This includes providing training,
resources, and support to help employees understand and accept the change, ultimately
enabling a smoother transition and minimizing disruptions. In contrast, other options
focus on narrower aspects. Implementing new technology quickly does not encompass
the broader human-centered approach that change management advocates. Managing
financial aspects relates to project management rather than change management, which
is primarily concerned with people. Lastly, developing quality assurance processes, while
important in its own right, falls outside the scope of change management, as it relates
more to maintaining product or service standards than to the human factors involved in
managing change.
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7. Which of the following are a correct reflection of the
Business Change Life-cycle?

A. Implementation
B. Definition
C. Decisions

D. Analysis
E. Realisation

The Business Change Life-cycle consists of distinct stages that organizations move
through when undertaking change. Understanding the correct elements is essential for
effective change management. The option identified involves 'Decisions’', which, while
relevant to the change process, does not specifically represent an official phase in the
structured Business Change Life-cycle. Each stage emphasizes a systematic approach to
managing change, involving careful planning and execution without explicitly naming
'decisions' as a standalone phase. On the other hand, elements such as Implementation,
Definition, Analysis, and Realisation encapsulate critical aspects of the Business Change
Life-cycle. Definition pertains to identifying the need for change and defining objectives;
Analysis involves examining the current situation and understanding the implications of
the proposed change. Implementation refers to executing the change plan, while
Realisation is about capturing the benefits and ensuring that the change is effective in
achieving the desired outcomes. By understanding these correctly identified stages, one
can appreciate the comprehensive nature of managing changes in a business context,

ensuring that every step is adequately addressed to minimize risks and maximize
benefits.

8. Which of the following would you not expect to see as an
output of a Business Change Design Phase?

A. Applications design
B. Description of the 'to be' process

C. Documented business strategy
D. Training requirements

The reason for identifying documented business strategy as something you would not
expect to see as an output of a Business Change Design Phase lies in the specific focus of
each phase within a business change initiative. The Business Change Design Phase
primarily concentrates on designing how the change will be implemented, including
specific outputs such as applications design, descriptions of 'to be' processes, and
training requirements. Applications design involves the technical specifications and
features of the systems that will support the business change, while the description of
the 'to be' process outlines how the business operations will function after the proposed
changes are applied. Training requirements are also a critical output as they indicate
what training needs to be provided to ensure that staff can effectively operate in the new
environment. In contrast, the documented business strategy is usually developed earlier
in the process, typically during the initial phases of strategic planning and analysis. It
serves as the foundation for why changes are necessary and what the organization aims
to achieve overall, but it is not a direct output of the design phase itself. Instead, it
provides context for the design work; thus, it would not be an expected output from this
specific phase of business change.
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9. Which of the following best describes related
diversification strategy in business?

A. Entering into similar markets that require the same
technology

B. Acquiring firms in unrelated industries
C. Expanding product lines without changing the core business
D. Forming joint ventures with competitors

The best description of a related diversification strategy is entering into similar markets
that require the same technology. Related diversification involves expanding a company's
operations into areas that are closely aligned with its existing business, leveraging
shared knowledge, skills, and capabilities, particularly in technology, to create synergies.
This approach allows companies to capitalize on their core competencies while aiming
for growth and reducing risks by spreading operations over several products or services
within a familiar domain. In this context, related diversification not only strengthens the
company’s market position but also enhances its competitive advantage by allowing for
better resource allocation, streamlined operations, and improved efficiency. By entering
markets that are similar and build upon existing technological strengths, businesses can
achieve sustainable growth and minimize uncertainties associated with entering entirely
new or unrelated markets.

10. Which of the following correctly represents the four
stages of the Iterative (Spiral) Development Model?

A. Determine objectives

B. Identify and resolve risks
C. Development and Test

D. Plan the next phase

The iterative (spiral) development model is characterized by its focus on risk
management and progressive refinement of the project through multiple iterations or
cycles. Each cycle typically involves a series of stages that help teams plan, execute, and
evaluate their development efforts. The correct representation of the four stages starts
with determining the objectives that clarify what the project aims to achieve. Following
this, there's a phase of identifying and resolving risks, where potential problems that
could impact the project's success are assessed and addressed. The third stage involves
actual development and testing, where the solutions are created and then validated
against the objectives. Finally, the process culminates in planning the next phase, which
involves synthesizing what was learned from the current iteration and applying it to
improve future development efforts. This structured approach ensures that the project
continuously evolves, allowing for adjustments in response to emerging insights,

stakeholder feedback, and changing circumstances, ultimately leading to a well-defined
and user-aligned product.
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